LABJNDu6-triangle lightness T*

. with Y,=L*, ~ =100,
T
LABJNDu6-triangle lightness for colours with T%,=-301
T*L aBaNDus =A2nlIN[(A 1n+A20Y)VA 2] (Y2/100<Y<=Y,)

-457,T*,=-301,T*,=-102,n=0,86,A;=0,017,A,=0(
T*90-T*u=199,23, fakj=0,1000, A0=0,1000, AOD65=0,6
T*18-T*u=-0,00, AOn=0,666, A1n=0,"17, &n 0,004
T*04-T*u=-147,72
T*03-T*u=-168,55
T*u=-302,00

CEE61-1N

log AY LABJINDU6-
AY tristimulus value difference
with Y,=L*y,  ,=100,
T*LaganDus =A2nlIN[(A 17+A2,Y)VA 2] (Y2/100<Y<=Y)
LABJNDu6-tristimulus value difference
(dYFA(A1ntAn YAz, A1,=0,017, A,=0,0058, A=]
d919D58, 3 7AK-for1A0ecAGHE, 260 NED65=0,666
dY18=0,06, AOn=0,666, A1n=0,014, A2n=0,004
dY04=0,02
dY03=0,01
dYu=0,06
I = 301 d\{I =0. 06 dY/Y 0 Of‘d’ ','

application
Iog(dY)=0,06 m,= 0,85 o | rapr?ge

:Yu:18

CEE61-3N

log (AY/Y) LABJINDU6-

_ tristimulus value sensitivity
S=(@YH) with Yo=L*y, - =100,
T*LaganDus =A2nlIN[(A 17+A2,Y)VA 2] (Y2/100<Y<=Y,)
LABJNDu6-tristimulus value sensitivity

dY/Y=Aon[(A1n+A2nY)/Aznl/(Y)
(dY/Y)900,00, fakj=0,1000, A0=0,1000, AOD65=0,666
(dY/Y)18/u0,00, AOn=0,666, A1n=0,014, A2n=0,004
(dY/Y)04/u0,00
(dY/Y)03/u0,00 __
dYu=0,06 application
range
S
~

Th=-301, dY,=0,06 dY/¥,~
Yy=4  1Y,=18
I

(AV/VN=—2 A1 m =_N12

o
CEE61-5N
log (Y/AY) LABJINDu6-
tristimulus value contrast
C.=(YInY) Yozl =100,
T*LaganDus =A2nlIN[(A 17+A2,Y)VA 2] (Y2/100<Y<=Y,)
LABJNDu6-tristimulus value contrast
(YIAYYIIA gr(ArrtAznY) Azl

T+,=-301, dY,=0,06 Y,/dY,;=258
O A T T = e

| log(Y/dY)=2,41, nL:o,lg P

{ -’ 1
(Y/dY)90291,22, fak”"s 1250, AU=},1060-A8D65=0,64
(Y/dY)18258.59, .:1=0, 666 Aln-.o ognph(;_&tlﬂmoozt
(Y/dY)04173,52
(Y/dY)03152,10
dYu=0,06

Ya=4 'YU718

1
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TT*, relative LABINDu6-triangle lightness T*
e with Y,=L*, ~ ,=100,
u

relative normalized LABIJNDu6 data
LABJNDu6-triangle lightness for colours with T*,=-301
T*LaBaNDu6 =A2n[IN[(A 1n+A2aY)l/A2n] (Yy/100<Y<=Y,)
T*90-T*u=199,23, fakj=0,1000, A0=0,1000, AOD65=0,6
T*18-T*u=-0,00, AOn= 0,666, Aln=0 LA/ 4 ‘!n 0,004
T*04-T*u=-147,72

T*03-T*u=-168,55

CEE61-2N

log(AYIAY,) relative LABINDu6-
AYIAY tristimulus value difference
u with Yp=L*, =100,

T*LaBINDU6 =A2n[IN[(A 17+A2,Y)l/A 2] (Yy/100<Y<=Y,)

relative LABINDu6-tristimulus value difference
(AdYY(dY)=Aonl(A 1ntA2nY)/A2nll (dY),
dY*90/dYu=4,43, fakj=0,1000, A0=0,1000, AOD65=0,6|
dY*18/dYu=1,00, AOn=0,666, A1n=0,014, A2n=0,004
dY*04/dYu=0,33
dY*03/dYu 0,28
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log [(AY/Y) | AY/Y)] relative LABIJNDu6-
tistimulus value sensitivity

SSu=OYMIBYI) v =%, - =100,

T*LaBINDu6 =A2n[IN[(A 17+A2,Y)l/A 0] (Y,/100<Y<=Y,)
relative LABINDu6-tristimulus value sensitivity
(AY/YY(dYu/Yu)=Aonl(A 1n+AonY)/Aznl/ Y((dY)/(Yy)
(dY/Y)90/u0,88, fakj=0,1000, A0=0,1000, AOD65=0,66
(dY/Y)18/u1,00, AON=0,666, A1n=0,014, A2n=0,004
(dY/Y)04/u1,49
(dY/Y)03/u1,70 ~oolication
: DA=GE ¥ S~ ra?r?ge

et = ]

T TogH@Y /Y@ =0, m=-013 1
T4,=-301, dY,=0,06 dY,/¥,=0,0038 "
Ya=4 o VY,=18

CEE61-6N
log [(Y/AY) I (Y/AY,)] relative LABIJNDU6-
tistimulus value contrast

CrlCru=(YIBV(Y/AY) v ={*, =100,

T*LaBINDu6 =A2n[IN[(A 17+A2,Y)l/A 0] (Y,/100<Y<=Y,)

relative LABINDu6-tristimulus value contrast
(YIYY(Y(dY)=YAon(ArntAonY)/Aznl/ ((Y),/(dYy)
(Y/dY)90/u1,12, fakj=0,1000, A0=0,1000, AOD65=0,66
(Y/dY)18/u1,00, AOn=0,666, A1n=0,014, A2n=0,004
(Y/dY)04/u0,67
(Y/dY)03/u0 ]
dYu=0,0

| Iog[(Y/de(Y fd¥)]=0, =013

| T*=-301 dY= 0 06 Y/dyf Jo application
| | range
= 1y =
Yy=4  1Y,=18
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